1.4 Practice Problems

Graph the function.
1)y = x+ 3; domain:0,1,2,3,4 and 5 2) y=2x+2: domain: 0,2, 5, 7 and 10
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13)Y =x+5;domain: 0,2, 4,6,8,10 4) Describe and correct the error in graphing
X © Y o ‘_‘ the functiony = x -1 with domain 1,2, 3, 4, 5.
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Werite arule for the function represented by the graph. Identify the domainand the range of the
function. D= £& L%,3, 9,8, x‘ i".ﬂ.so "g De £06,1,2,%3
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8) MULTIPLE CHOICE: The graph of which function is shown?
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R ~ &4, 2,3{'5',65 % 7 & &cx
Skillz Review
Plot the points: Simplify: Simplify:
1) (1:5) 2)(-1,5) 3) 3-9 4)4(—1)3 + 2(—4)
y —12-(-3)
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